Potencias de 10

(G)

2.9004 +-10°

7.3795 =103

3.9039 = 10°

5.266 +10°

5.0703 = 10°

5.4374 +10°

5.8784 = 10°

7.6817 + 103

1.0727 +10°

2.4002 =103

Calcule los siguientes cocientes.

4.9157 +10°

3.245 =103

9.3762 +10°

1.481+10°

7.7372 = 103

2.3972 +10°

4.5261 =103

4.6296 +10°

3.2447 = 10°

7.8013 =103
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Potencias de 10 (G) Respuestas

2.9004 =103
0.0029004
7.3795 +10°
0.0073795
3.9039 + 10°
0.0039039
5.266 + 107
0.005266
5.0703 =10
0.0050703
5.4374 =103
0.0054374
5.8784 103
0.0058784
7.6817 = 10°
0.0076817
1.0727 +10°
0.0010727
2.4002 =103
0.0024002

Calcule los siguientes cocientes.

4.9157 = 10°
0.0049157
3.245+10°

0.003245

9.3762 +10°
0.0093762
1.481+ 103

0.001481

7.7372 =+ 10°
0.0077372

2.3972 +10°
0.0023972

4.5261 = 10°
0.0045261

4.6296 = 10°
0.0046296

3.2447 +10°
0.0032447

7.8013 ~10°
0.0078013
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